

$$a_n = \frac{1}{\sqrt{n}} \text{ دارا } \dots$$

$$a_n = a_1 r^{n-1} \Rightarrow a_1 = \frac{1}{\sqrt{1}} \times r = r = \frac{1}{\sqrt{2}}$$

$$\frac{a_{17}}{a_1} = \frac{\frac{1}{\sqrt{17}}}{\frac{1}{\sqrt{1}}} = r^{16} = r^{16} = \frac{1}{17} \Rightarrow r = \frac{1}{\sqrt{2}} \Rightarrow \boxed{n=9}$$

$$128 = 2^7 = a \times r^{n-1} \Rightarrow 2^7 = \frac{1}{\sqrt{2}} \times r^{n-1} \Rightarrow r^{n-1} = 2^8 \Rightarrow \boxed{n=9}$$

$$\left. \begin{array}{l} a_5 = 12 \\ a_{11} = 96 \end{array} \right\} \Rightarrow r = \frac{a_{11}}{a_5} = \frac{96}{12} = 8 = 2^3 \Rightarrow a_5 = a_1 \times r^4 = 12 \Rightarrow a_1 = \frac{12}{16} = \frac{3}{4}$$

$$a_{11} = a_1 \times r^{10} = \frac{3}{4} \times 8^{10} = 2^3 \times 2^{30} = 2^{33}$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = \frac{a_3^5}{a_1^2} \Rightarrow a_3^5 = a_1^2 \Rightarrow a_3 = a_1 \Rightarrow a_1 = \frac{1}{\sqrt{2}} / a_2 = 1 / a_3 = 2 / a_4 = 1 / a_5 = 2 \Rightarrow a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 2 \times 2 \times 2 \times 2 \times 2 = 32$$

$$a_1 \times a_5 = \frac{1}{\sqrt{2}} \times 2 = 1$$

$$r^a \times r^b = r^{a+b} \Rightarrow r^a \times r^b = r^{a+b} = (r^{\sqrt{2}})^2 = r^{2\sqrt{2}} = r^a \Rightarrow a+b = 2\sqrt{2}$$

$$\text{باط} = \frac{a+b}{\sqrt{2}} = 2/\sqrt{2} = \frac{2}{\sqrt{2}}$$

$$\left. \begin{array}{l} a_1 = 1-x \\ a_2 = x \\ a_{11} = x+1 \end{array} \right\} \Rightarrow r^x = (x+1)(1-x) = x - x^2 + 1 - x = -x^2 + 1 \Rightarrow r^x = 1 \Rightarrow x = \pm \frac{1}{\sqrt{2}} = \pm \frac{\sqrt{2}}{2}$$

$$\begin{aligned}
 a_1 + \cancel{ar} + \cancel{ar^2} &= 12 \Rightarrow a_1(1+r^2) = 12 \\
 \cancel{ar} + \cancel{ar^2} + 12 &\Rightarrow a_1(r+r^3) = 12 \\
 \Rightarrow \frac{a_1(1+r^2)}{a_1(r+r^3)} &= \frac{12}{12} \Rightarrow r + r^3 = vr + vr^3 \Rightarrow \\
 \underline{r} - \underline{vr} - \underline{vr^3} + \underline{r^3} &= 0 \Rightarrow \textcircled{1} \times \Rightarrow (r-r^3)(ar^2+br+c) = 0 \Rightarrow \underline{ar^2} + \underline{br^3} + \underline{cr} \\
 \Rightarrow \underline{a=r} & \Rightarrow \begin{cases} r \Rightarrow 1+r=12 \Rightarrow a_1=1, r=1, r^3=1 \\ -1+1=0 \times \\ 1+\frac{1}{r}=\frac{1}{r} \times \end{cases} \Rightarrow \underline{r-r^3}(r^2+vr-1)=0 \Rightarrow \underline{-rar^2 - rbr - rc} = 0 \\
 \Rightarrow (b-ra) = -v & \Rightarrow -3c=r \Rightarrow \underline{c=-1} \\
 \Rightarrow (c-rb) = -v & \Rightarrow -rb = -6 \Rightarrow \underline{b=2} \\
 r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} &= \frac{1 \pm \sqrt{1 - 4 \times 2 \times (-1)}}{2 \times 1} = \frac{1 \pm \sqrt{1+8}}{2} = \frac{1 \pm 3}{2} = \begin{cases} \underline{2} \\ \underline{\frac{1}{2}} \end{cases} \rightarrow a_1 = \frac{r}{r} = 1 \\
 & \rightarrow a_1 = \frac{r}{\frac{1}{r}} = r^2
 \end{aligned}$$

$$\begin{aligned}
 a_1 + \cancel{ar} + \cancel{ar^2} &= 12 \Rightarrow a_1(1+r^2) = 12 \Rightarrow \frac{r}{r}(1+r^2) = 12 \Rightarrow r + r^3 = 12r \\
 a_1 \times \cancel{ar} \times \cancel{ar^2} &= 12 \Rightarrow a_1 r^3 = 12 \Rightarrow ar = r \Rightarrow a_1 = \frac{r}{r} \\
 r^3 - 1 \cdot r + r &= 0 \Rightarrow r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{1 \pm \sqrt{1 - 4 \times 1 \times (-1)}}{2 \times 1} = \frac{1 \pm \sqrt{1+4}}{2} = \frac{1 \pm 2}{2} = \begin{cases} \underline{2} \\ \underline{\frac{1}{2}} \end{cases} \rightarrow a_1 = \frac{r}{r} = 1 \\
 & \rightarrow a_1 = \frac{r}{\frac{1}{r}} = r^2
 \end{aligned}$$

$$\begin{aligned}
 a_n &= 1, 9, 81, \dots \\
 S_n &= \frac{a(1-q^n)}{1-q} \Rightarrow S_1 = \frac{1 \times (1-1^1)}{1-1} = -1 + 9 \cdot 9 = +9 \cdot 9
 \end{aligned}$$

$$\begin{aligned}
 P_1 &= a_1 \times \cancel{ar} \times \cancel{ar^2} \times \dots \times \cancel{ar^{n-1}} \Rightarrow P_1 = a_1 \times r^n = r^n \times r^{n-1} \\
 1 + r + r^2 + r^3 + \dots + r^{n-1} &= r^n
 \end{aligned}$$

$$\begin{aligned}
 \frac{ar}{a_1}, \frac{ar^2}{a_2}, \frac{ar^3}{a_3}, \dots
 \end{aligned}$$

$$(a_1 - a_2), (a_2 - a_3), (a_3 - a_4), \dots$$

$$a(1-r), ar(1-r), ar^2(1-r), \dots$$

$$r=4$$

$$\begin{aligned}
 S_n &= \frac{n}{2} (2a + (n-1)d) \\
 S_n &= a + (a+d) + (a+2d) + \dots + (a+(n-1)d) \\
 S_n &= (a + (n-1)d) + (a + (n-2)d) + \dots + a \\
 \textcircled{1} \quad [a + (n-1)d] \dots & \Rightarrow \text{از آخر جمع کردیم} \\
 r S_n &= n \times [a + (n-1)d] \Rightarrow \text{ن تا از اینجا داریم} \\
 S_n &= \frac{n}{2} [2a + (n-1)d] \leftarrow \text{ن تا از اینجا داریم}
 \end{aligned}$$

$$\begin{aligned}
 S_n &= a \times \left(\frac{q^n - 1}{q - 1} \right) \Rightarrow S_n = a + aq + \dots + aq^{n-1} \\
 q S_n &= aq + aq^2 + \dots + aq^n \\
 q S_n - S_n &= aq^n - a \Rightarrow S_n(q-1) = a(q^n - 1) \\
 a(q^n - 1) &\Rightarrow S_n = \frac{a(q^n - 1)}{q - 1}
 \end{aligned}$$